CET 12th Level (1st Shift) Answer Key Dated : 11.02.2023

1.

'qh eI’ Tratereil o aah, fSI-Tent g1t 8t # 70 adf

&I omrg 7 fAre= gt -
(A) S50, BR (B) . TH. eiest
(C) diex =&t (D) et Aveet [D]

Go through the passage very carefully and
answer the question given below:

In the past thirty years, drugs have been
discovered Excitement over what drugs can
do has led people to believe that any ailment,
infective or psychic, can be relieved by taking
a pill. At the first sign of nervousness, they
try pep pills. Medical journals now advertise
tranquillizers, and other mood- altering
drugs; doctor prescribe them; and the public
expects miracle from them. In such an
atmosphere, it is not surprising that drug
abuse has spread.

People often believe that

(A) doctors can cure all the diseases.

(B) medicines can cure all the diseases.

(C) doctors can not cureall the diseases.

(D) medicines can not cure all the diseases. [B]

'gRareht srTeT’ @1 ud fohe faf® &t a=rar srar 82

(A) TRIeHA SMHTE=T (B) epifcien SmaTa=aT

(C) 3uTe ST (D) raor rHTEa=T [D]
27-8-2022 @t U Hall fves HIEHERT Sgied fhar
T 31 Yo fohe Fdl UR &I+T 82

(A) graRHdt (B) ST

(C) Tvaret (D) ket [A]
utRfeafaes a=1 | <1 S1aad aid a-

(A) US Td e (B) Stfaes wd srsifaeh

(C) 7g= qd ugTe (D) urey gd Sig [B]

A= 7 9 forg g A g M9 /A& erar< 2022 sfiar
8?

(A) A= (B) dRrara

(C) wif=aet (D) ufes [B]
R d@faum= & wF-d sigge FRufowedt &
aRAG?

(A) 11t (B) 124t

(C) 13d¥ (D) 10d¥ [B]
ASTEYTE # Gediir f3ome= que Saaui= sfeege
hal R TTfad forar mar 82

(A) SheqR (B) &

(C) et (D) SR [A]

Frafaf@a & | w9-a1 o 9t gafea @i saws
G & forer a8 22

g - s = & oo
(A) R1g- et Th1
(B) QAR
(C) eigry 3SR
(D) =y - TrYE SRR

[c]

10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

TS AT &F Rl gdesh 3MehRYur dheg & w9 fomar
SITeT | g e 8-

(A) SR & (B) SriTaresT &

(C) RaR & (D) SR & [B]
Rt d@fau™ # e gRawted smaRe 8-

(A) fafer & e uferar R

(B) fafer a1 g ©R

(C) gd fAufat ek wRuRTstf oR

(D) fafer grr wnfia ufehar R [D]
SRIPUfd ZR1 giHfee ST @1 3gTed favar -

(A) ArTTivS # (B) gz &

(C) ASiRm & (D) Burer & [A]
'gHraT # U 21

(A) 3sft ot (B) T¥pd Iuwrt

(C) 3¢ Suwrt (D) fo=ét Sum [C]
IMYF 2AE ohl TG hIfSrg-

(A) AreRa (B) anfeareht

(C) sdorEt (D) arswa [B]

a7 # fSicrer &ars voneft siREf N1 8, ag &
(A) STReH gfRatsT (B) A1} srsTTST 9FR uRatsT
(C) gaR uRgsT (D) et Agr ufars=m  [D]
forg fohat & IR A ga= et A forar tag dar e
& A1 Z=aTSTT i STHAUTRRT 981 @l Gt ?
(A) STTeTR <t feher (B) TG a1 fohet

(C) o &1 fohe (D) SR @1 foher [A]
i< ¥ 2Aes HHe d i ez "fahwor' & q@fgarh &2
(A) &, ard, 8ig (B) =7, iy, w¥Ifw

(C) =7y, &R, a1k (D) o= griw, Yard [B]
gl

(A) sitg=T (B) ateit

(C)ura=xr (D)-3iT=r [A]
Uthrge # I U<HIY] fehdehl URdl & «U # aafead
a8’

(A) Seantofa ser (B) gqenivfi aerg

(C) sreahivfig gera (D) drentvfig gerg [A]
A, BWd C X & Al & 9 aqzag @
A:2,3,7,1,3,2,3

B:7,5,9,12,5,3,8

C:4,4,11,7,2,3,4

fadd sy e?

(A) C op1 H1e = B hY A1fedent

(B) B <t Arfedient = A T dgeieh

(C) A & \Tem, ATfedehT Ud dgeich IHH &

(D) A a1 ATed = C T dgcich [C]
AISE QaE U4 HIS<E Heple] R dg drefl UuH'
WRe T Afget, AT 4 siagar, 2022 i fRas@e &
g g T, i ofY?
(A) I greg

(C) fraift utssm

(B) sigy STHEHT
(D) Hfaar ehgaret [D]
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22.

23.

24.

25.

26.

27.

28.

29.

30.

g ¢ Rareat § | 39 e gqg &1 994 Fifsg s
& 99g (2, 3, 5) F IEEEN

(A)(5,7,9) (B)(5,7,11)

(C) (3.5, 9) (D) (3,5, 15) [C]
GREeh1 a=1 Sfia sraRvy forg Teg A ffaa @2

(A) ISTEIT (B) ToRTa

(C) gRamom (D) geg wear [A]
'grg fiie' & fog opls &1 v ufeg 82

(A) areta=T (B) I

(C) iR (D) 3frepte [D]
Sifaar sfRfeaf_aa o g am @ g2

(A) &es (GrTam) (B) <t

(C) sfrr (D) TR [D]

fewrera fr Aafaf@a sjaesit &t swR @ gfaor s
# agafeyq fifom-
(i) SR

(iii) PRIPRA

(A) (i), (i), (i) g (iv)  (B) (ii), (iii), (i) Td (iv)

(C) (i), (i), (i) g (iv) (D) (iv), (i), (ii) wa (iii)  [C]
A=faf@a syt & @ #19-91 Fu= Jifers Fdaat &
3regTy # gfofd agl 82

(A) gt IR T¥epfa i HiRaLMeft TRURT &1 Aged
A 3R IYRT URRETT R

(B) Tac=dT TAGT o T=oRT &l UTA T d SThT TR
AT

(C) WIRA ht T[T, Yehdl 3R SIS chl I&T e 3R IH
31g[U0T W |

(D) Gfaem ant gTetd ATl [B]
I=I AT 1 AiEaeher AUET AanT U S«
&l 8-

(A) =T TaTeT e {3 TEeT i

(B) ITsTaTe <ht

(C) ¥Rd o Hzeg gramefier i

(D) argufa = [D]
Which one of{the following is correct ih an
official letter?

(i) sEr=m
(iv) frenferer

(A) Your's truly (B) Yours Truly

(C) Yours truly (D) Yours' truly [C]
Aafaf@a d @ w9 a1 die 2gar Iwkash & 7R
TS A?

(A) Teeiiry (B) uresft

31.

32.

33.

34.

35.

36.

37.

38

39.

40.

41.

42.

e 7 @ ga e &1 Fi=-a1 aof O @ ==
forafoa gar @2

(A) e (B) dterr

(C) mrafy (D) & [c]
U famg WR a9+ aret 9ot wiorl @1 g gl 8-

(A) 90° (B) 180°

(C) 360° (D) 0O [c]

T 78 Frafafad fra wsg agg 9 gl varfga
gidta?

(A) Teg T, ST, giaron

(B) Heg UeeT, ISR, o1

(C) Hear TR2T, TSTEYH, IR TeRm

(D) \eg UeeT, oA, feett [c]

T i TR g Tt St siugR 7 e g,
a9 @ St STt @1

(A) =it &Y STt (B) S&Trg & srerst

(C) e & STt (D) =ie Srare! [*]

Teh ol H 3N O R ST & o T T

gar gl

(A) &= (B)ds

(C) 3= (D) ¥R [A]

HIF- AU AT 0T @R & FRUTISTIYE & U

HeATafy g1 g4?

(A) B8 e g (B) Trad faems g

(C) ot e gam (D) =eft faems gem [A]

SuE@Hr W e g glar 2l

(A) areft @t (B) feea

(C) feushifar (D) diferat [D]

€hoose the appropriate indirect narration for
the sentence given:

I said to her, "Why are you working so hard?"
(A).asked her why had she been.working so hard.
(B) asked her why she had been working so Hard.
(C) I asked her why she was working so hard.

(D) basked her why was she working so hard. [C]

Tt BT @t Frafaf@a et 7 @ foraw avre &

forg Aider QR | "wnfaa frar mar?

(A) Tgr= (B) aifea

(C) «fahr (D) afefdm [B]
23 ettt @1 ofted 21 g1 afe ucdes Sear &t 2 &/
Ton foRar STTq &Y AT st @ ghm?

(A) 236 (B) 42

(C) 46 (D) 21 [c]

Choose the correct antonym of the following
word from the options given below:

Knowledge
(A) learning (B) classic
(C) unknown (D) ignorance [D]

Fillid the blank with suitable preposition.
Your have to leave your shoes the door
when you enter the house.

(A) over (B) to

(C) by (D) in [c]
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43.

44

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

fFrafaf@a § @ &= Red ¥ sifw sfoesar & *d

Tg-R Ug W= gl 82

(A) €. . St am (B) sft um. 3R, 3@

(C) sht ga. &t 7t (D) it g, S [c]
Fill in the blank with the correct determiner.
We can't make tea as thereis ___ milk left
(A) much (B) any

(C) little (D) a little [c]

FARI o faRsT oT fRfafEa 7 @ oo i sufefa
# glar g-

(A) 7=t (B) & a1 TehTar

(C) 5 SHiertte (D) yr&h ag [A]
tuere daste aRats=T 1 Ty @ -

(A) siretraTs & (B) SR &

(C) ureft & (D) seTR & [A]

Choose the correct Hindi translation, of the
following word:

Affidavit:

(A) 2T g (B) siferatsr Wipfa

(C) @afy =g (D) adfiaa-mT [A]
Crat) &1 UhR gl

(A) i 3MAR (B) i< Tgur

(C) wi= et (D) i grett [D]
ufg 'REmer & adl aga A [=R¥a 21

(A) I (B) ek

(C) wler (D) SitegR [A]

g g feredt # | 9 HE&AT TG &1 IY hiSIT Sil
&=t 99 (5, 12, 13) & S 8t

(A) (7,9, 11) (B) (6, 8, 12)

(€)(5.7,9) (D) (3,4, 5) [D]
‘ieft IR Ity R FErs a1 2?

(A) 72 = (B) 45 ez

(C) 26 = (D) 62 #ftex [D]

Translate the following sentence into English:
39 R @ ug<= 2|

(A) To play tennis is liked by her.

(B) He / She loved to play tennis.

(C) He / She likes tennis.

(D) He / She likes to play tennis. [D]
Aafaf@a & urdia dfaum s sa-ar s asat |
MUTF IR A 8?

(A) vII (B) IV

(C) 1 (D) v1 [D]
ThIeudT i Ahum™ & ford e @

(A) TEETRfae ofR MemRA

(B) wiferes Uflrs ok fderf@= &t 12

(C) faerfam § sfik ursfam

(D) ursfa= ok TzaTRAfaT [B]
Ar=ifera & & st 7 o & 6 ggras 76 &
T8 8?7

(A) quit (B) @tz

(C) gt (D) oftmn [A]
&t g8 g’ | @?

(A) Tt T g™ (B) g&w Sftat i 7

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

(C)garIRaTar g™ (D) a3 Sfiat &f 7 [c]
Which of the following is the correct active form
of the sentence -

The bridge was considered a menace to navigation
by the boat owners.

(A) The boat owners considered the bridge a
menace to navigation.

(B) The boat owners consider the bridge a menace
to navigation.

(C) The boat owners have considered the bridge a
menace to navigation.

(D) The boat owners had considered the bridge a
menace to navigation. [A]
St &1 A3 8-

(A) =afererfhferes wfereamae

(B) sctarcifthfcien aRTIcHe

(C) 7k TeTeh Ul

(D) sereifthfores wfaemo= [D]
ToTey Yargd sifafaaw fea ad & @wg fear man
UT?

(A) 1955 (B) 1953

(C) 1956 (D) 1954 [B]
‘JufAdar ereg @'aAT gorr e v ere ghm-
(A) sfiufadfn (B) sufafr

(C) siufaftg (D) Sufasfg [A]
B d 9 HIF-81 IR ISy J . U9, g,
Hf4,22022 & sla ai<w Frf A a1t IuHAT
2q vreafaa T &2

(A) gl SiFSTd [ SR ST & et

(B) SrTEIRUT Ufchar / ITE T TaTIR

(C) Icure TOTERIT FUR

(D) wfger et [c]
g, fasTe v "R IoTeuTH &l §E 3T T
8?7

(A) ugg ure = (B) afstet gaiRoT

(C) S ferpr (D) ger e [D]
HTShINde a< 2016 # afedTeh faerea gar 21

(A) =g (B) Reg

(C) fewme= (D) §&¢ [C]

S B S F omAEE uhE o taw 2R
= § Prefarae § & Rrad daw 2P & s
&<k Sidr?

(A) sfiT srgpett (B) Tfaenr ga=1

(C) siferar e (D) gfarf geastt [B]
IUUg W' &l Uafa w1 & = IgT Uy
T § -

(A) Ham gargae (B) TUST Ua-e Hag

(C) YA gd S d&me= (D) Uy ves= [D]
Ueh aAf<h ¥19E &9 (colour blindness) & fif3a &1
I fog A & @ 9-a1 T 9 @2

(A) cafth o T 6t Soft & SR WE g e UraT!

(B) cafth chaet S IT AW AT Y IIGSH ol @ UTdT &
(C) =afth St aegaft ot ¢ urar & foheg Aa a1 o
I ! TE 51 &@ UTET
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

(D) =afch T awgai ot WE =@l 3 FehdT| [A]
e 2022 & A 37 3fFean’ & fohet A1 R g2
(A) 7 gre (B) 8 &ret

(C) 9 g1t (D) 6 9T [B]

Qe AR &l &1 ghST | hIeT ST 1 TST FhST, AR Y
TS T 60% g1 TST ThST BIE gahs A fohast ufdara
T 8?

(A) 40% (B) 50%

(C) 60% (D) 20% [B]
gy TMUHT-2012 & SR 3 & Fel Uy #H
ST a1 fgwar fhan 82

(A) 10.2% (B) 11.5%

(C)12.6% (D) 9.4% [B]
fRafaf@a d @ sy & #9-a1 iy sa ofaat
& g ufg 21

(A) iR Azt urh (B) dhaeieg A uTdh

(C) IoMIR AFT uTh (D) S9i¢ A UTeh [B]
ek @ &t 2012 # u=rsht ) gunfRa frar mar
Fifeh stk arer o 999 92 vawht A1

(A) araft (B) HRRET

(C) wear (D) T [D]
fderrefi= arferal 1 o aRd |99 TsauTe fRah
ufafafd & dk )R &rd sz g?

(A) 3T fgmree (B) Ty TRaR

(C) 3=y &Y STt (D) #fuReg [B]
Ny fehche Rfeaw s=m™T STIew =

(A) SR & (B) a1 &

(C) R & D) Siterqr & [A]
mmqamf@aaﬁﬂaﬂ?r%a’rqﬁﬂu’lﬁam

Tae tharM 8% ( Correct function test)
I % (Integrity test)

UTaR 31f Otk ¢ (Power on self test)
Remafaferé ¢ (Reliability test) [c]
........... $r sremaiar H 8-9/5S, 1938°%h IR FTAUX
TS USTHUSH T UUH AfTA FFa- g3l

(A) ehuzE=< re-t (B) gRretTer T

(C) s g fagar (D) SHATTA FSTTSt [D]
Tcedr uifta & aug Jorey™ fhat 22ft Raraat &
farsrera ur?

(A) 18 (B) 19

(C) 22 (D) 15 [B]
THUH-TFTA h SHE T H ... 7o gid &2
(A)5 (B)7

(03 (D)6 [A]

Rarar 2021 d& JouE A Fof fi fdrssia
errar forat of1?

(A) 23321 #raTte (B) 31310 Avrare

(C) 21979 &rate (D) 20762 ®raTe [A]
2 ¥t ST I TS U1 Bl ITUH H SRR Yah -1
1 1T SITdT 8, &t 39 UehR a9 98 = <l «rars 82
(A) 4 Tft (B) 6 4t

(C) 8 o+ (D) 2 9+t [A]
‘Taraeft 71 FEfear A =T R wiferRt gRT
Ra Frag?

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

(A) Sichierg (B) mﬁ’s’aﬂga

(C) samete™ D) $asifig aIRes [D]
gfesin A+ cosA=mdaursin3 A+ cos3A=ng, at
fafafeaa & 9 slq-ar g 22

(A) n3-3n+2m=0 (B) m3+3m+2n=0

(C) m3-3m+2n=0 (D) m3-3m+n=0 [C]
45° WRTIAE hIoT areft wehter fawor & fag emuas
1T R /T gN?

(A) 0° (B) 60°

(C) 90° (D) 45° [D]
gahRaiifes Sfial # urRgAl &1 Sugea sreaaq fhe
31T # fRaT ST JehdT 87

(A) S srazan (B) HeTthet

(C) Sttt (D) Gy 3rgzar [B]
T @ sjEer d fFefafea § aaffds d@=n
forgehY gt &2

(A) vmafies Iustterdr B) fedftaes Iustiarar

(C) sruueas (D) 3curgen [C]
‘TR A fefew’ g I ¢ 59" Rh Rs
% FRT ............ a=a Y 7eg gt St 82

(A) f&fra (B) F<fta

(C) ogd (D) wrere [A]
ASTEATT T hI-UL AT HRd. § a9 98 FF
ITSTR &h &Y H STHT SI1dT 82

(A) SR (B) SieerR

(C) siehrR (D) sTemR [C]
‘g’ gdam g2

(A) Frguaras 948 (B) UAarae Ga—mH

(C) Trerameh 9411 (D) sifAauardes ga- [D]
TR Aeh Aeere« & ‘Reference’ &t fa=dl =u 8?
(A) Tt (B) gsfro=

(C) ufRetem (D) ufersgfar [A]

HIRd & g-1d 1A (8iens) 3 frd smg-m ‘Tl
Ueller’ (A2l 3115hA) TifAq frar &2
(A) tenst Ut (B).3nfar =@
(C) =i g (D) siffer s [A]
16 omie, 1658 & R fha gg # ofivold 4

(C) ga s gg (D) ERTE BT g5 [C]
Rearerdfy fRaa @2

(A) A137C g & B) off ggrefistt &

(C) SroeaR & D) =gt & [A]

Teh heFell # Sl il srden Uah O’ (ga) oifdem
FHTS e T&dT 2| SHhT hIRUT 8?
(A) TR ohT dTT STe hY 3raeTT 31fdeh g1
(B) O ST 56 TG STef Shl STUET A Bl
(C) I oI Y& TG ST hi Srder 3ifdrh &1
(D) R, STt bl 3detT 31fereh T g1 [c]
Afaf@a & | fFa uig & fAsaedor dae Rega-
3qee & ZRT foRaT ST gerdar 82
(A) Ag (B) Au
(C) Al (D) Cu [C]
y-3181 IR si=-a1 fawg, fawgait (7, 6) aur (-3, 4) |
HHAGREY 87

(B) (0, -15)

(A) (0, 5)
(C) (0, 15) (D) (0, 10) [c]
fafaf@a 4 @ &9 91wy snges ar @

graf=aa T8 87
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96.

97.

98.

929.

100.

101.

102.

103.

104.

105.

(A) sraHg (B) =<t

(C) At (D) fieus [B]
‘AR A A T AT THH 2?2

(A) degzy 9= (B) sreadftvra w9

(C) g ammg (D) wHuRa 9= [B]
&It wicterleT &1 TANT WIS & Sie U § R
ST 82

(A) & & (B) dt aft ot 3
(Quadrddigy (D) Tw & ot [D]

USTEYTE & Hohed ST O Seurg d fhe & @t
ahrer |affae 8?2

(A) \/% (B) a+b
(€ 222 (D) ab [l
ﬁmﬁl@aﬁmmﬁﬁmmwmaﬁq?
1 1 1 1
T 2243726 6\/_
1
A B) —
(A) /6 ( ) 5
1
(Q) 25 (D) —12\/5 [C]

A=afafaa gen doft & s ue &= o= =nfgu?
1 11

1
2727 23 246" 62"

1
(B) 12
©) 575 (E]

et et Y garen Fre e & & o 2 (ot dw A
e gl 8) -

(A ,_1

Fy

(B) P=/2

(Q) p:.%- D) p=f [A]
TR e Y AE AT ATeRTaR @ T aref &
(A) Smufy & THg S Tgrrar ot a1 gidt

(B) STt firer mar agt shrcht

(C) I & e sifden |

D) foreft g™ e T AT [B]
ATBTHR IMIRYY fohaeh fog ufdg 82

(A) e fgvor (B) " RE=S

(C) BT PR (D) arg [A]
ot 7 oYU A fhas ot g urdh faenfaa foRa &2
(A) 4 (B) 2

106.

107.

108.

100.

110.
' A2 13
y o
/ (&)
3 e 6 7 o 298
N
T a '

111.
112.
113.
114.

115.

116.

117.

118.

(C)10 (D)6 [A]
"wfor Foft' areg-gre o1 A oref @
(A) MR -h\d  (B) @ -1

(C)z= -Td (D) =21 - R1E [c]
74800 &Y AfA WR 5% aififer TrerRor =TT it R F 2-
1, ot & sgret & AfA ghfl-

(A) 500 (B) 600

(C) z700 (D) 7400 [B]

T SRR Freger gt fonT g et 82

(A) e I (B) SimssiigH

(C) e (D) =TSshIETHR [B]
TSTFYE F 2011 &Y ST & IR FA=ifora @i
¥ e A f3fg <raw ssen a9 82

(A) sTETR (B) AR

(C)g& (D) SR [B]
T H&&T A1 Hifgl

11

e o
(A) 65 (B) 72
(C) 88 (D) 51 [A]
HYEE HIYR REhR 8§ g sifea =ted
fA=fafaa 9 @ frg @« @ gafRa @2
(A) fonche (B) Herhastt
(C) irearsit (D) gfeht [A]
gg do-len oit WfiT &hle waE @l fthaws sidstt
STee] o ZRT&RAT A FFhT ehr st 21
(A) et (B) gforam srefots
(€) sitanfair D) STz} gigaeE [A]
Teh 931 ot T 1440 8 =1 tR 10% < g1f~ gict 8139
forera a8 A S s fh 1598 <kt &1 812
(A)=1840 (B) 1850
(C) 1860 (D) 1800 [A]
yrRiss af=Y o1 fawrR & FHt & FROT g ar
gl
(A) S (B) SR
(C) amaifesy (D) faafm g [A]
IS HEIRHE # UENT 3 ITT GIUEaaR 8-
(A) faae (B) faafSia
(C) farrgem (D) faf3ien [B]

afY davet & fog gaaw s foramfier srafRar
T AT &7

(A) 2 (B)3

(C) 4 (D)1 [B]
"ARETST I T farra”’ g T 82

(A) zaTeT T B) HgUnd Aot

C) YdHee s (D) dRToT T [B]
Td TRUE ST & fFa A & «fda @2

(A) sferarer (B) &

(C) sreaR (D) SRR [c]
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CET 12th Level (1st Shift) Answer Key Dated : 11.02.2023

119. fZana wfteror feewt g 9o (/5 - 2) &, ghfi?
(A) x> —2/5x—-1=0 (B) x> —4x+1=0
(CQ) ¥ +4x—-1=0 (D) x* +2J5x+1=0 [C]
120. 27 S1ageER, 2022 Ht WRA H ........ af e |
(z7h=8Y) feawr w=mam mar?

(A) 76 (B) 78

(©)79 (D) 74 [A]
121. Fill in the blank with the correct option.

They ............... looking after orphans since 1980.

(A) were (B) are

(C) had (D) have been [D]
122. YFhIC hgl (€A 8?

(A) aretrye & (B) 15 #

(C) srgs & (D) wrefierm & [c]
123. UTER Uig~< H AR TATSS <Rl &1 IUANT 82

(A) 75 wIgS @M

(B) Goft TESH ot Tk T ST

(C) 718 wiTEe @M g Goft TISSH i Ueh A1 31 &1

(D) & WSS &t Yeh STAT thTHE heAT [D]

124. Qe aif & faervof Y svars20 |t &, af 39 aRama
ghm-

(A) 200 @t (B) 402 ¥ft

(C) 1042 Tf (D) 40 oft [B]
125. Choose the correct synonym of the following

word:

(A) sorrowful (B) angry

(C) scarce (D) fear [D]

126. 30 =afwhal &t v tfeh & =Y Gl 31 & agdt a1
TRa et ik @ Usgdl 8, 1R Qe M & qed foret
aafe 87
(A) 2 (B)3
(C) 4 (D) 1 [A]

127. YUYW & GHET Hipicidi,<h, §1€9 Teh [ Sra=agl
Tt IFaeY o SMTHIR UR Sed? SIepfeal 8,9 Sugerd et
T hIAT S1 uefRlg &2 gz 81T Heh?
Problem Fiqures (99T 3rrepfadt)

FH| X | eb| -
1 7] M ™v
Answer Figures (IeaR Srepfadi)

) @ )
© @ ™)

=y
=)

[A]
128. ST. IIGTHTRT MTFSh? ol HaraR[Aafor Raa 82
(A) 14 s (B) 6 fegmr
(© 10 1A (D) 12 Tay [B]

129. afE gas A A Bsar gt i 7 9 areafae M oE

T T & AT BT STIUTA T §?

(A) 8:1 (B) 1:2

(C) 2:1 (D) 1:8 [D]
130. oY & foha wgR & 1952 & w giiawur Aty

T Y TUTUAT Y 7 of1?

(A) STraqR (B) SgetaR

(C) sTe®R (D) dftepr R [A]

131. 56 G+t R aret gear 1 Shet @ ghr?
(A) 249.45 T2 (B) 256.25 92
(C) 216.15 T2 (D) 216 T2 [A]

132. Which of the following phrases is a substitute
for the word ‘Beaver’?
(A) To tear up and damage a living body
(B) Public merry making and procession
(C) An animal that lives in water and land

(D) A person who brews liquor illegally [c]
133. 125" wTAM &?
(A) 545 (B)%
(C) 25 (D) 5 [A]
134. vlokRuRT A glara?
(A) el AR @ (B) wioHIeaq @
(C) gRRAT =Rt & (D) ety AeX | [c]
135. A & @ 19T ATz O 981 82
(A) gy (B) gk a1 STefig gt
(C) Tert (D) iz [B]
136. A= # gEGensfes A= d 9 g aes @
TATIART gl &2
(A) TTifthettoT (B) @«
(C) TR ga=ht (D) et [D]
137. fAfaf@a & 9 @iFET 9@ JhewT WRA ERI
SIS Qe TR | ST 14T UT?
(A) 31cRen 9re e (B) < tewe &g
(C) goreht twe (D) iw = &g [A]
138. fAmafafEa =t gifaa Hifagl
A B
1. IJERE (i) e ufRfaat = Ao
ST 91T U= |
2. gRRu= (i) T=OT U= |
3. SrfAga=m (iii) Tror<hrg wameER &
queher a1 Sfefiaey
SifemiiRal ar ef=rfiRal
! YTYRUT T 34 &
IGIAGICIEIEEIGIRES
4. a4 (iv) IroTast & wenRtiAa ==
1 2 3 4
(A) (i) (i) (iv) (iii)
(B) (iii) (iv) (i) (i)
() (iv) (i) (i) (i)
(D) (i) (i) (iv) (iii
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139. USTEATE & Tehlaeul <& 3ifaw =Ror & si=ar &5

140.

141.

142.

143.

gfefare forar mar ar?

(A) SR (B) BRI

(C) een (D) 3rerR [D]
2401 &1 g 82

(A) 49 (B) 51

(C) 39 (D) 41 [A]
SISTHR & AIgH & ... & am @ ft ST ST
8?

(A) iR F =g (B) GuUTcHel & S

(C) TrSieT & =g (D) STIeiR & =g [B]

sy HiAFEd d gewdl & sifderan srgHa HeEar 82
(A) Trog fRAuTHSd &1 15%

(B) 3= faemge &1 15%

(C) Ir=a faum T &1 10%

(D) 357 faemHes &1 10% [B]
faf= &=t @ et CO, Ieawia 5 mmt g1 = @
™ ug-aré |, fAfv= &=t | €0, scusi= & ufa
ufaera ahre e frar man g:

Thermal power seclor o
wit &/ 5% _’bmﬁestic sector
15%) o &

20%

Commercial seclor

' 0%
Transport sector ) -

uiEe &=

FaTsd w8 § Fe CO, Seeui fha-l 62
(A) 0.75 mmt (B) 2.5 mmt

144.

145.

146.

147.

148.

1409.

150.

(C) 1.75 mmt (D) 1.5 mmt [A]
gl dara Rulra &= & st g, @ g wad
SIR?

(A) & a18 &F 3rex (B) ®: |18 & 3R

(C) dcaprer (D) Ueh H1E & 31=e [B]
d1.uA.1. o] &l fafArse Tyel wR wredt aret deiga
g g?

(A) &g hiThestsT (B) St.4A.T. UfefimRsior
(C) g greigfaergeiet (D) SruA.g fertsier  [C]
fafafaa & 9 frg e g @R dfa @2

(A) FawT (B) T=afa

(C) =t (D) 3T [B]
Aafafaa 7 | s avqey 1 3gER0T RiFET 82
NSEIRS (B) oY=

(C) Qarfgea (D) srrsitet [c]

Teh hefl o faenffat =t dferat o ==t g+ 81 af
ufer A 3 faemdff orfdes g1, at 1 df<s &x gt af
tfer A 3 faemeff oa g, at 2 dfes sifdrer g=1<ht| e

¥ feenffat & dwar forait &2
(A) 35 (B) 36
(C)37 (D) 34 [B]

ST H Fe1T WS T 7 MY YT hgi TATa
forar mar 22

(A) SR (B) STregR

(C) anfami (D) sifa iR [D]
g %heaRF = ROUND (188.52,-1) &R Iealr 3M?

(A) 189 (B) 190

(C) 200 (D) 188 [B]
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